

# PDPM Analyzer

The PDPM Analyzer is a tool that is designed to allow you to analyze the HIPPS Codes related to PDPM and see your anticipated reimbursement. The PDPM Analyzer will display each day of the resident's Medicare (A) stay, the HIPPS codes, Modifiers, rates for each component of the HIPPS Code, adjustment factors for the individual components, total rates for each component, as well as the total reimbursement rate for each day.

Medicare Advantage (A) residents will appear on the PDPM Analyzer as well if you generate a PDPM HIPPS Code for them.

# **PDPM Setups**

There are some setups that are required to be completed for the PDPM Analyzer to show all available data. Please see the PDPM Analyzer Setup document for details.

#### Rates

Rates must be entered in the Charge Master for you to see the rate information. If you do not enter rates, you will only see the assessments and days associated with each assessment. Rates may be added regardless of whether you use the ECS Accounts Receivable module. For additional information related to entering rates, please see the **PDPM Analyzer Setup Notes** document.

# To Use the PDPM Analyzer

- 1. Go to American Data ECS>View>PDPM Analyzer or click an Access button with a link to the PDPM Analyzer.
- 2. On the Name Selection screen, filter for Active Names.
  - a. This may need to include Inactive names once you begin to review PDPM Analyzer for prior periods but that is not necessary at this time.
- 3. Click Select All on the names or select individual name(s) to view.
- 4. Click OK.
- 5. When the screen displays, the details for the first resident in the list will be displayed on the right side of the screen and the first resident's name will be highlighted on the left.



st	Name(s	) G	0	View MDS	Summary	Prin	t Export	52	art Date	End Date	Horizo	ntal	Ful [	Show CMI	Value O Al	pe							
														Variable Pr	Them O Med	icare							
															(e) Med	Replacement							
licare Sta	iy						Rate Details																
		Start Date	End Da	te HIPPS C	ode Referenc	e Date	Date	Day	Total Rate	Avg. Rate	HIPPS	PT Comp	PT Rate	PT Adj.	PT Adj. Rate	OT Comp	OT Rate	OT Adj.	OT Adj. Rate	SLP Comp	SLP Rate	SLP Adj.	SLP Adj. Rate
dams, Joi	hn	10/01/2019					Adams, John																
sams, su	zanne C	11/10/2019	11/14	2019			10/01/2019	1	668.00	668.00	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
sams, Ira	всу	10/11/2019					10/02/2019	2	668,00	668,00	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14,33
con, Nev	Denn	10/21/2019					10/03/2019	3	668.00	668.00	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
in ymore,	Drew	101/04/2020		2010			10/04/2019	1	470.44	618.61	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
e, Jarie		10/10/2019	10/31	2019			10/05/2019	2	4/0.44	588.98	KESDO	IK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
ath, Can	nen	10/01/2019					10/06/2019	0	470,44	569.22	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
ey pridit	0	ev[23]2019					10/08/2019		470.44	544 57	KESDO	TK	03.02	1.00	03.82	TX	80.94	1.00	80.94	SC.	14.33	1.00	14 33
							10/09/2019	9	470,44	536.29	KESDO	TK	85.82	1.00	85,82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/10/2019	10	470,44	529.71	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/11/2019	11	470,44	524.32	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/12/2019	12	470,44	519.83	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/13/2019	13	470.44	516.03	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/14/2019	14	470.44	512.77	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/15/2019	15	470.44	509.95	KESDO	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/16/2019	16	470.44	507.48	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/17/2019	17	470.44	505.30	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/18/2019	18	470.44	503.37	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/19/2019	19	470.44	501.63	KESD0	TK	85.82	1.00	85.82	TK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/20/2019	20	4/0.44	500.07	KESDU	TK	85.82	1.00	85.82	IK	80.94	1.00	80.94	SE	14.33	1.00	14.33
							10/21/2019	21	467.10	498.50	KESDO	IK	85,82	0.98	84.10	IK	80.94	0.98	79.32	SE CE	14.33	1.00	14.33
							10/22/2019	22	467.10	405 77	KESDU	TK	85.82	0.98	84.10	TK TK	80.94	0.98	79.32	SE CE	14.33	1.00	14.33
							10/23/2019	23	467.10	40.4 59	KESDO	TK	85.82	0.98	84.10	TY	80.94	0.98	79.32	SE CE	14.33	1.00	14.33
							10/25/2019	25	467.10	493.48	KESDO	TK	85.82	0.98	84.10	TK	80.94	0.98	79.32	GE .	14.33	1.00	14.33
							10/26/2019	26	467.10	497.46	KESDO	TK	85.82	0.98	84.10	TK	80.94	0.98	79.32	SF.	14.33	1.00	14.33
							10/27/2019	27	467.10	491.53	KESDO	TK	85.82	0.98	84.10	TK	80.94	0.98	79.32	SE	14.33	1.00	14.33
							10/28/2019	28	463.77	490.53	KESD0	TK	85.82	0.96	82.39	TK	80.94	0.96	77.70	SE	14.33	1.00	14.33
							10/29/2019	29	463.77	489.61	KESDO	TK	85.82	0.96	82.39	TK	80.94	0.96	77.70	SE	14.33	1.00	14.33
							10/30/2019	30	463.77	488.75	KESD0	TK	85.82	0.96	82.39	TK	80.94	0.96	77.70	SE	14.33	1.00	14.3
							10/31/2019	31	463.77	487.94	KESD0	TK	85.82	0.96	82.39	TK	80.94	0.96	77.70	SE	14.33	1.00	14.33
							11/01/2019	32	463.77	487.19	KESD0	TK	85.82	0.96	82.39	TK	80.94	0.96	77.70	SE	14.33	1.00	14.33
							11/02/2019	33	463.77	486,48	KESD0	TK	85.82	0.96	82.39	TK	80,94	0.96	77.70	SE	14.33	1.00	14.33
							11/03/2019	34	463.77	485.81	KESD0	TK	85.82	0.96	82.39	TK	80.94	0.95	77.70	SE	14.33	1.00	14.33
							11/04/2019	35	460.43	485.09	KESDO	TK	85.82	0.94	80.67	TK	80.94	0.94	76.08	SE	14.33	1.00	14.33
							11/05/2019	36	460,43	484.40	KESDO	TK	85.82	0.94	80.67	TK	80.94	0.94	76.08	SE	14.33	1.00	14.33
							11/06/2019	3/	460.43	483.75	KESDU	TK	85.82	0.94	80.67	IK	80.94	0.94	76.08	SE	14.33	1.00	14.33
							11/08/2019	30	460.43	402.55	VECOO	TV	05.82	0.94	80.67	TY	00.94	0.94	76.08	CE CE	14.33	1.00	14.33
							11/09/2019	40	460.43	482.00	KESDO	TK	85.82	0.94	80.67	TK	80.94	0.94	76.08	CF.	14 32	1.00	14.33
							11/10/2019	41	460.43	491.48	KESDO	TK	85.82	0.94	80.67	TK	80.94	0.94	75.08	SE	14.33	1.00	14.33
							11/11/2019	42	457.09	480,90	KESDO	TK	85.87	0.97	78,95	TK	80.94	0.92	74,46	SE	14.33	1.00	14.33
							11/12/2019	43	457.09	480.34	KESD0	TK	85.82	0.92	78.95	TK	80.94	0.92	74.46	SE	14.33	1.00	14.33
							and the second sec																

## PDPM Analyzer Screen

The PDPM Analyzer is going to derive data from the MDSs and populate Start and End Dates based on a combination of MDS files as well as the charting of ending words for Medicare stays. You will only see assessments on the PDPM Analyzer that have a HIPPS Code associated with them.

The PDPM Analyzer screen is broken down into two areas; the Medicare Stay on the left and associated Rate Details on the right.

#### **Medicare Stay**

- In the **Medicare Stay** area of the screen, when you click on a line, this line will represent the dates of a Medicare Stay for the resident.
  - The Start Date will be the Start of their Medicare stay and the End Date will be last day of their stay.
    - The Start Date would equal field A2400B on the 5 Day MDS.
    - The End Date would equal field A2400C on the PPS Discharge Assessment.
- You will see one line per stay, rather than one line per assessment.
- There is a + next to each resident's name that allows you to expand to see details associated with the selected stay. Additional information includes the assessment type, the actual HIPPS Code generated by the assessment and the Assessment Reference Date.



American Data ECS m										
American Data - ECS V	Toolbar	Easy - [(SNF/A	L/OP) Main Me	nu] HIPPS Co	HIPPS Code Modification					
Exit Name(s)	Go	View MDS	Summary	Print	Export	Start Date				
+ Medicare Stay						Rate Details				
Name	Start Date	End Date	HIPPS Code	Reference Date		Date				
📮 🖳 Adams, John	10/01/2019					Adams, John				
Not OBRA - Not PPS (IPA)	10/01/2019		KESD0	10/03/2019		10/01/2019				
Not OBRA - IPA	05/24/2020		KESC0	05/24/2020		10/02/2019				
🗄 📃 Adams, Suzanne C	11/10/2019	11/14/2019				10/03/2019				
🗄 📃 Adams, Tracy	10/11/2019					10/04/2019				
🗄 📃 Bacon, Kevin	10/21/2019					10/05/2019				
🗄 📃 Barrymore, Drew	01/04/2020					10/06/2019				
🗄 🗖 Doe, Jane	10/10/2019	10/31/2019				10/07/2019				
🖭 📃 Smith, Carmen	10/01/2019					10/08/2019				
🗄 📃 Zeik, Sharon B	10/25/2019					10/09/2019				

- There is also a + next to the heading Medicare Stay which allows you to expand and see the additional information for every resident in the list at the same time.
- Once clicked, the plus will change to a and clicking the will Collapse the details.

### Rate Details

The **Rate Details** area will display the dates of the stay in the first column, which day of the stay it is, the Total Rate for that day, the actual HIPPS Code, the base rate for each component, the adjustment factor for each component, and the adjusted rate for each component. The Total Rate in column 3 is the sum of all Adjusted Rate columns together.

By default, the first person in the list will be highlighted. To see the rate details for another name, click a name/stay on the left.

- The **Date** column shows each individual date of the stay.
- The **Day** column shows which day of the stay is counted.
  - An X in the Day column indicates a Non-Billable day. This could be because it is a Non-Covered Day, a Discharged Date, or a change in payer. No rates are associated with this day.
  - If you see multiple x's at the end of a stay and no End Date in the Medicare Stay area on the left, this is because charting was updated to reflect an Occupancy Status of Discharged or payer change for example, but the PPS Discharge Assessment hasn't yet been completed.
  - Medicare Replacement plans do not require a Discharge Assessment to be completed. You will not see an End Date for Medicare Replacement names (although you will see X on the right when you chart an Occupancy Status of Discharged or a new Payer Source.)
- The **Total Rate** column displays the reimbursement total (if rates have been entered in Charge Master.)
- The HIPPS column will display the HIPPS Code and Modifier Code together.
- The columns to the right will then display 4 columns for each **component** of the HIPPS Code:
  - The **Component** column will display the actual component.



- The **Rate** column will display the full rate for that component.
- The **Adj**. column will display the adjustment factor based on what day of their stay they are on.
- The **Adj. Rate** column will display the adjusted rate. If the Adj. column is something other than 1.00, the Adj. Rate will be different than the Rate column.
- At the bottom of each column is a **Total** and the **Average**. You get a Total # of Days under the Day column, a Total and Average under the Total Rate column, as well as a Total and Average under the Adjusted Rate column for each component.

If there is no End Date generated by a Discharge MDS for the stay, ECS will continue to count out 100 days. If charting of Occupancy Status of Discharged or Non-Covered have been charted, without a Discharge MDS having been completed, ECS will display X for all non-billable days up to 125.

#### Summary

The Summary area of the PDPM Analyzer will display the Start and End date for each resident, the total days for each stay, the total rate and average rate for each stay. If a name is displayed multiple times on the Rate Details screen, due to multiple stays, they will be displayed multiple times on the Summary as well. The Summary will provide you with a Grand Total of days for the selected names, rates, and average of the total rates.

## Toolbar

- The **Exit** button will exit you out of the PDPM Analyzer screen.
- The **Names** button will allow you to choose different names to display.
- The **Go** button will run the PDPM Analyzer after you select names. If you change names, you must then click Go to refresh the screen.
- The **View MDS** button will allow you to see the MDSs that are associated with the name/stay that you have selected on the left side of the PDPM Analyzer.
- The **Summary** button will take you to the Summary view which displays a summary of dates, days, and dollars for the entire list of names selected. There is also a grand total. This button is only visible when you are on the Details screen.
- The **Details** button will return you to the Rate Details area when you are on the Summary screen. It toggles between Summary and Details depending on what screen you are on.
- The **Print** button will allow you to print the PDPM Analyzer results. You may print the details or the summary.
  - If you are on the Details page, when you click the Print button, ECS will print the Rate Details for the name that is selected on the Medicare Stay area on the right.
     Printing the Rate Details may only be done for one name at a time.
  - If you are on the Summary page, when you click the Print button, ECS will print the entire Summary page.
- The **Export** button will allow you to export to Excel the PDPM Analyzer results. You may export the details or the Summary.



- If you are on the Details page, when you click Export, ECS will export the Rate Details for the name that is selected on the Medicare Stay area on the right. The file will default to be called PDPM Analyzer. You may change this name and select the location of where you'd like to save the file. The file will default to a Microsoft Excel file format. Exporting the Rate Details may only be done for one name at a time.
- If you are on the Summary page, when you click Export, ECS will export the entire Summary page. The file will default to be called PDPM Analyzer. You may change this name and select the location of where you'd like to save the file. The file will default to Microsoft Excel file format.
- The **Start Date** button will allow you to narrow down the data to a selected start date.
  - For example, if you want to see assessments from 01/01/2020 going forward, any assessment that carries forward into that date range will be shown on the Medicare Stay area on the left. The Rate Details area on the right will only display days after the selected Start Date.
- The **End Date** button will allow you to narrow down the data to a selected end date.
  - For example, If you want to see assessments that end as of 01/31/2020, you can select 01/31/2020 as an end date. The Medicare Stay area on the left will display only assessments that are ended as of 01/31/2020. The Rate Details area on the right will then only display days through 01/31/2020.
    - A good way to see what anticipated reimbursement for a month will be is to select a Start and End Date.
- The Horizontal button will change the display of the screen so that the Medicare stay with the names panel will appear on the top and the Rate Details area will appear on the bottom (rather than split between left/right). Once you click the Horizontal button it will switch to Vertical so you can toggle between views.
- The **Full** button will hide the left panel of names and allow you to see the entire right side of the screen for the selected name. Once the Full button has been selected, it will switch to Split to allow you to return to the split screen.
- Show CMI Value there is a checkbox that displays the CMI Value within the Rate Details area of the screen when checked.

_	Toolbar Easy - [(SNF/AL/OP) Main Menu] HIPPS Co	le Modification	PDPM A	nalyzer 🔉				_											8
Exit Name(	(s) Go View MDS Summary Print	Export	itart Date	End Da	te Hor	izontal	Full	Show	CMI Value	MDS Type All Medical	e e								
										O Med Re	placement								
Medicare Stay		Rate Details						_					_						
Name	Start Date End Date HIPPS Code Reference Date	Date	Day	Total Rate	Avg. Rate	HIPPS	PT Comp	PT CMI	PT Rate	PT Adj.	PT Adj. Rate	OT Comp	OT CMI	OT Rate	OT Adj.	OT Adj. Rate	SLP Comp	SLP CMI	SLP R 1
🕀 📘 Adams, John	10/01/2019	Adams, John																	1 0
🚯 🗖 Adams, Suzanne C	10/02/2019 10/07/2019	10/01/2019	1	668.00	668.00	KESD0	тк	1.52	85.82	1.00	85.82	тк	1.54	80.94	1.00	80.94	SE	2.33	14
🕀 🔜 Adams, Suzanne C	11/10/2019 11/14/2019	10/02/2019	2	668.00	668.00	KESD0	тк	1.52	85.82	1.00	85.82	тк	1.54	80.94	1.00	80.94	SE	2.33	14
🕀 📘 Adams, Tracy	10/11/2019	10/03/2019	3	668.00	668.00	KESD0	TK	1.52	85.82	1.00	85.82	тк	1.54	80.94	1.00	80.94	SE	2.33	14
🕀 🗖 Bacon, Kevin	06/01/2019 09/30/2019	10/04/2019	4	470.44	618.61	KESD0	TK	1.52	85.82	1.00	85.82	TK	1.54	80.94	1.00	80.94	SE	2.33	14
🕀 📘 Bacon, Kevin	08/20/2019 10/20/2019	10/05/2019	5	470.44	588.98	KESD0	TK	1.52	85.82	1.00	85.82	TK	1.54	80.94	1.00	80.94	SE	2.33	14
🚯 📘 Bacon, Kevin	10/01/2019 10/17/2019	10/06/2019	6	470.44	569.22	KESD0	TK	1.52	85.82	1.00	85.82	TK	1.54	80.94	1.00	80.94	SE	2.33	14
🕀 📃 Bacon, Kevin	10/21/2019	10/07/2019	7	470.44	555.11	KESD0	TK	1.52	85.82	1.00	85.82	TK	1.54	80.94	1.00	80.94	SE	2.33	14
😟 🖪 Banderas, Antonio	10/13/2019	10/08/2019	8	470.44	544.52	KESD0	TK	1.52	85.82	1.00	85.82	TK	1.54	80.94	1.00	80.94	SE	2.33	14

• Variable Per Diem - checkbox that changes the detail on the Rate Details area of the screen. The Variable Per Diem checkbox provides summarized lines only when there is



a change in HIPPS Code and/or a change in the Variable Per Diem Adjustment for any HIPPS.

	Toolba	ar Easy -	(SNF/AL/OP)	Main Menu]	HIPPS Cod	e Modification PD	PM Analy	zer 🕴														<b>v</b>
Exit Name	s) Go	Viev	v MDS S	iummary	Print	Export Star	Date	End Da	te Ho	rizontal	Full	Sho	w CMI Value	MDS Type All Medicace								
							IJ	Ţ				·		Med Replac	ement							
Medicare Stay						Per Diem	. <b>v</b>	<b>V</b>														
Name	Start Date Er	nd Date	HIPPS Code	Reference Da	ate	Name	Days	PPD	Total	HIPPS	PT Comp	PT CMI	PT Adj Rate	OT Comp	OT CMI	OT Adj Rate	SLP Comp	SLP CMI	SLP Adj Rate	NRSG Comp	NSRG CMI	NRSG Adj Ra
🕀 📃 Adams, John	10/01/2019					Banderas, Antonio	3	1191.61	3574.83	IFBB1	Π	1.13	67.04	п	1.17	64.62	SF	2.97	62.81	ES2	3.06	316.59
🗈 📃 Adams, Suzanne C	10/02/2019 1	0/07/2019					17	796.67	13543.39	IFBB1	π	1.13	67.04	п	1.17	64.62	SF	2.97	62.81	ES2	3.06	316.59
🕀 📃 Adams, Suzanne C	11/10/2019 1	1/14/2019					7	794.04	5558.28	IFBB1	П	1.13	65.70	П	1.17	63.33	SF	2.97	62.81	ES2	3.06	316.59
😥 🗖 Adams, Tracy	10/11/2019						6	791.41	4748.46	IFBB1	П	1.13	64.36	П	1.17	62.04	SF	2.97	62.81	ES2	3.06	316.59
🕀 🔜 Bacon, Kevin	06/01/2019 0	9/30/2019					1	565.84	565.84	PIOD0	TP	1.08	96.00	TP	1.09	56.43	SI	3.51	64.19	CA2	1.08	162.30
😥 🗖 Bacon, Kevin	08/20/2019 1	0/20/2019					7	562.66	3938.62	PIODO	TP	1.08	94.00	TP	1.09	55.25	SI	3.51	64.19	CA2	1.08	162.30
😥 📃 Bacon, Kevin	10/01/2019 1	0/17/2019					7	559.49	3916.43	PIODO	TP	1.08	92.00	TP	1.09	54.08	SI	3.51	64.19	CA2	1.08	162.30
😥 🗖 Bacon, Kevin	10/21/2019					~	7	556.31	3894.17	PIOD0	TP	1.08	90.00	TP	1.09	52.90	SI	3.51	64.19	CA2	1.08	162.30
🚔 🔜 Banderas, Antonio	10/13/2019						7	553.14	3871.98	PIOD0	TP	1.08	88.00	TP	1.09	51.73	SI	3.51	64.19	CA2	1.08	162.30
- Admission - 5 day	10/13/2019		IFBB1	10/13/2019		-	7	549.96	3849.72	PIOD0	TP	1.08	86.00	TP	1.09	50.55	SI	3.51	64.19	CA2	1.08	162.30
Not OBRA - IPA	11/15/2019		PIOD0	11/15/2019			7	546.79	3827.53	PIOD0	TP	1.08	84.00	TP	1.09	49.38	SI	3.51	64.19	CA2	1.08	162.30
Correction Not	01/03/2020		OIFD0	01/03/2020			6	543.61	3261.66	PIOD0	TP	1.08	82.00	TP	1.09	48.20	SI	3.51	64.19	CA2	1.08	162.30
Barrymore, Drew	01/04/2020						1	617.23	617.23	OIFD0	TO	1.55	75.41	TO	1.55	70.20	SI	3.51	64.19	HBC2	2.23	220.51
Doe, Jane	10/09/2019						7	613.68	4295.76	OIFD0	TO	1.55	73.57	TO	1.55	68.49	SI	3.51	64.19	HBC2	2.23	220.51
Doe, Jane	10/10/2019 1	0/31/2019					7	610.13	4270.91	OIFD0	TO	1.55	71.73	TO	1.55	66.78	SI	3.51	64.19	HBC2	2.23	220.51
Doe, Jane	11/01/2019					1	3	606.57	1819.71	OIFD0	TO	1.55	69.89	TO	1.55	65.06	SI	3.51	64.19	HBC2	2.23	220.51
Edwards Jack C	10/01/2019					Total	100		65554.52				1266.74			943.66			1021.52			3446.80
	1010 1120 13					Average			655.55				12.67			9.44			10.22			34.47

- Show CMI Value and Variable Per Diem may be used/selected together.
- MDS Type this list allows you to narrow down the list of names on the left as well as associated MDSs based on whether they are traditional Medicare residents or Medicare Replacement residents.

MDS Type
nee type
0
Medicare
Officarcarc
Med Peplacement

## Additional Notes on Using the PDPM Analyzer

#### To See Rate Details for Multiple Names

On the left side of the screen, in the Medicare Stay area, you may select multiple names by using the **Ctrl** and/or **Shift** keys on your keyboard. Selecting multiple names will allow you to see the Rate Details for all selected names on the Rate Details side of the screen. You may need to scroll down on the Rate Details area to see data for additional names.

#### Multiple Assessments on the Same Start Date

There is an option to create a default HIPPS Code if needed for billing prior to the MDS being submitted. If/when the MDS gets submitted, an error will appear indicating a resident has multiple assessments on the same date. The billing staff would need to go in and delete the manual code they created for billing. Additional instructions for creating a default HIPPS Code can be found in the American Data documented called HIPPS Code Modification.